
IC PRO
SCHWINN

INSTITUTIONAL CARDIO

TECHNICAL SERVICE               (800) 864-1270              FAX (877) 686-6466

55

53
54

37

65

32

19

50

14

10

45

44

43 57

17

2

4

3

44
18

25

19
40

69

11

22

58

56

24

39

21

1
47

33

45

34
23

6

29

20

5

50

63 62
68 8

9

31

12

7

1651
15

13

34

12

20 60

42

59

19

41

48

27
19

44
46

26

205



REF# DESCRIPTION
1
2
3
4
5
6
7
8
9

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
29
31
32
33
34
37
39
40
41
42
43
44
45
46
47
48
50
51
53
54
55
56
57
58
59
60
62
63
65
68
69

95419
95119
56583
95120
92198
92874
92199
92201
93092
98411
98410
95117
95430
91719
98009
98022
91750
95432
95431
98008
95149
95577
95456
90595
95432
98775
95433
92872
95452
95420
95421
92204
98776
95418
95417
92220
92221
95129
95426
80049
95434
95428
92218
80049
47515
95450
91711
95457
95448
91712
47046
57880
92206
92450
92203
92451
92455
92454
92200
92222
47511
95150
97979
92215
92217
95424
93033

FRAME
RIGHT CRANK W/ SPROCKET, “S” LOGO
BOTTOM BRACKET
CHAIN, PRO
RESISTANCE ASSY
BRAKE PADS
SEAT POST
SEAT ADJUSTING BRACKET
SEAT, 7777-1 BLACK
OUTER CHAINGUARD
INNER CHAINGUARD
SLEEVE, SEAT POST/HANDLEBAR
TENSION KNOB WASHER
RUBBER CHAINGUARD RING
ROD CARRIER
SQUARE NUT FOR TENSION KNOB
FLANGED CRANK BOLT
HEX HEAD SCREW M6 X 1.0 X 12L
WASHER M6 6.25 X 16 X 1T STAINLESS
WASHER 6.2 X 12.8 X 1.0T
FLANGED AXLE NUT
LEVELER NUT
NYLON NUT M6 X 1.0
LEVELER FOOT
HEX HEAD SCREW M6 X 1.0 X 12L
HEX HEAD SCREW M6 X 1.0 X 15L
ADJUSTING BOLT, STAINLESS
T-HANDLE POP PIN, TRIPLE LEAD
TENSION KNOB
CHAIN ADJ BRACKET, LEFT
CHAIN ADJ BRACKET, RIGHT
YELLOW PLASTIC BUSHING, SET OF 2
FLYWHEEL, COMPLETE
FRONT STABILIZER ASSY 22" W/ TRANSPORT
REAR STABILIZER 22"
TRANSPORT WHEEL
HANDLEBAR
PEDALS, SET 9/16” W/TOECLIPS
WASHER M8 19 X 8.5 X 1T STAINLESS
NYLON NUT M8 X 1.25 STAINLESS
HEX BOLT M8 X 1.25 X 40L STAINLESS
BOTTLE CAGE BOLT
BOLT M8 X 1.25 X 45L
NYLON NUT M8 X 1.25
BOTTLE CAGE
LOCK RING 1.29 X 24 X 4T B.E.D.
SPROCKET, 14T
WASHER
LEFT CRANK
CRANK DUST CAP
TOE CLIP, SET
TOE STRAP, PR
FRAME PLUG FOR BRAKE ASSEMBLY
SAFETY RELEASE CLIP
END CAP FOR SEAT SLIDER
HUB SHELL PLASTIC COVER
SLEEVE, SEAT SLIDER
RUBBER FRAME GUARD
EXTRA TALL SEAT POST (6" TALLER)
EXTRA TALL HANDLEBAR (6" TALLER)
EXTRA LARGE BOTTLE CAGE, BLACK
TRIPLE LINK PEDAL SYSTEM
IC TECH MANUAL 2002
CHAINGUARD WARNING STICKER SHEET OF 12
PLASTIC SHIM SHEET OF 12
DECAL SET
IC PRO SELL SHEET, PACK OF 25

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

○

TECHNICAL SERVICE               (800) 864-1270              FAX (877) 686-6466

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

PART#

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

○ ○ ○ ○ ○

IC PRO
SCHWINN

INSTITUTIONAL CARDIO

206


	SchwinnICPro-ProBikes-Pre2004-PartsDiagram
	Spinner Pro



